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29th a*yt 1940.

Accord in to the Indian ont, the Indiana them-- 
selves diaouBStid the subject sith the Cranbrook .-ash 
and i>oor Conpeny in the fnll of 1942. fhe Department 
felt that, In view of war requirements, consideration 
ciiould be *,lven to the application of the Indians ae 
expressed by the Indien * tent, fbe Department la :ept 
Informa of prevailing prices of timber by the 
rovlnelel Forestry branch and uses this Information 

as a basis for sale of Indian timber.

.tere the Indian people consulted upon the question of 
sale trlcev

A. Yes. A meeting of the aand ma held In ueoember, 1939, 
and Chief Sustece, Stanley Andrews and Conrad Silllame 
swore before Alan '.Irahom, Oeq., at Cranbrook, that the 
tarns of the surrender were Interpreted to them and 
that the Indians assented to the sale.

4. 4. All circumstances considered, was the sale price a
fair one?

the price offered by the Cranbrook sash and Door 
Company appears to be higher than that charged by 
the Provincial Forestry department in aturnpage and 
royalty for similar timber, and was the best obtain­
able.

In what way are the Indian people protected on the 
output check or has the sale been upon the bests of 
approximate quantity?

. An Individual timber mnrk for such sales is issued by the 
Provincial Forestry .^e’^ert’nent arid all lo«s purchased 
are scaled by a Provincial .caler, a copy of the 
scale bill be In,» sent to the Indian a ;ent, and also a 
copy to the Indian Coranlasloner at Venoouver and for­
warded by him to the Indian «.qent for verification. 
Payment Is made on the basis of 1,000 f.b.m. of lore.

If the latter, who computed the quantity?

A. Provincial scale determines quantity out, .ut it is
estimated that there 1» about 30,000,000 f.b.m. avail­
able.
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